
 

 

 

 

  

The pharmaceutical advertisement displayed on the next 2 pages is for use with the 2 items on the third page. 



  



 

 

A 65-year-old woman comes to the office for blood pressure medication management. Medical history is significant for poorly 

controlled hypertension, psoriasis, and psoriatic arthritis previously treated with methotrexate. Additional medical history is 

significant for alcohol use disorder and elevated liver function tests. Medications include enalapril, spironolactone, and topical 

corticosteroids. Vital signs are normal except for a blood pressure of 160/104 mm Hg. Physical examination discloses thick, scaly 

plaques on the scalp, buttocks, and upper and lower extremities. There are several spider angiomata on the chest and abdomen. The 

abdomen is distended and a fluid wave is noted. She has 2+ lower extremity edema. The patient says she would like to try a new 

drug called Essepro to treat her hypertension because she can get a 3-month supply of the medication for free. 

 

1. Which of the following is the most appropriate response to the patient's request for the medication? 

 

(A) Essepro should be prescribed because she can get it for free 

(B) Essepro should not be prescribed because it can worsen her psoriasis 

(C) Essepro should not be prescribed because it is similar to her other medications 

(D) Essepro should not be prescribed because the patient has severe liver disease 

(E) Essepro should only be used for hypertensive emergencies 

 

(Answer: D) 

 

2. Which of the following interpretations can be made correctly from the graph on blood pressure reduction in the 

advertisement? 

 

(A) Blood pressure reduction from the three doses of Essepro cannot be compared to reduction with placebo because the 

number of patients on active drugs are higher than the number of patients on placebo 

(B) Doubling the highest dose of Essepro will decrease diastolic pressure from baseline by at least 15 mm Hg 

(C) The highest dose of Essepro should be used because it offers the greatest benefit 

(D) There is no clinically important difference in blood pressure reduction between the three dose groups 

(E) The significance of drug effect vs placebo cannot be determined because of the low P value 

 

(Answer: D) 


